F£620 LIINBEFT-A—FAr F:8)—5

1 &8 HE=E - FRERS
FE)-J A 1 2 3 BB B 45z
1 Bt =th TUNC 6 0 6 0 9-0 1
HE B F=RDIVO 6 O (WO)
) 'l mE¥ 7Y 06 6 0 11 9
B 71— 06 (Wo)
2R #H AINTMAX
3 0O 6 0O 6
2A &m AINTMAX (WD) (WD) 0-2 ki’Z‘
F®)—J B 4 5 6 BEK B2
. M B2 TOTO 6 0 6 0 9-0 1
N BE 5= ZDIVO (WO) 6 0
5 HE B 71— 06 06 0-2 K12
B E 5525 4—LTC (wD) (WD)
. 2/l FER FTC 06 6 0
BE EH F=RDIVO 06 (WO) 1-1 2
F&®E)—J C 7 8 9 BsRK B £z
, In B ST 4—ITC 0 6 (WD) 6 0
IO 1&E HSUF4—LTC o1 (wo) 1-1 2
il ¥ WATA 6 0(WO0)
8 A 60 2-0 1
il & FZ=XDIVO 16 (WO)
INE R RETC
9 0O 6 0O 6
NE EA S1y— (WD) (WD) 0-2 R 15
FEY—45 D 10 11 12 BsER IR £z
» Bl #%F FTC
EH &5 F=ZDIVO 62 63 2-0 1
y HT by F=2ZDIVO
T BL F=ZDIVO 26 60 1-1 2
" B FBE FoRERE
M i - 36 06 0-2 3
FE)—J E 13 14 15 [ 24
~ N
» EE B FTG
BEH &F F=RDIVO
ELE:: AN
2R LS W
" Ny }é/% 7\3%4—;}\
Jah‘ﬁ-ﬁ 55T 4—ILTC
FBY—HF F 16 17 18 19 Rk I 45z
6 ® EF 557 4—ILTC i
W OEE 55UF4—ILTC 60 63 2-0 (0.80)
- HIN EF FAEILTC 4
0] —
2 B - ® 1o 0=2 1 (08
” FT W FTC 3
5T EL FZZDIVO 86 36 0-2 (0.33)
19 [TH]::) *EEJ 71)— 2
WE s FRBED 61 63 2-0 (0.75)




§F62E JEAMBFI—F AL 188 IBELAIN—F AV HARE : FIRERS
16 b—F ATk 1 ER
1~3% 6 O
B =th TUNC
1 4
H B F=ADIVO
7~9%
5 rin FETE RFTA
1 6 b & FZZDIVO
61 62
11~13#
) 2l #F FTC
=l 155 FZZDIVO
2
16~19#; 64 4~6H
s " BF TS TF4—ITC ] Nk S ToT0
W &mx J5UF4—ITC N BE FZADIVO
2L b—F AL 1 fE
1~3# 5 3
: BTG =EF 7y— \
g B 79—
7~
5 In B 95T 4—ILTC
1 6 In &R JSUF4—ILTC
43 40
11~13%
) AT Hnv FZRDIVO
ZF Bx FZ=ZDIVO
3
16~19# 43 4~6H
. WA #5 21— 6 =l R FTC
WA #E HREEYD AR = FZZDIVO
3-4fi h—F ATk 3 BT
5 2
: B #*F FAEILTC .
£iF & FIEFHtsE
5
) B FKE F=RER 6
B #1K FoREE
3
41
s AT WA FTC ;
AT Bx FZZDIVO




F60EINMBFT_AM—F AL F3E)—4 Ha4ls - AHHEEDKS

2 #p
FE)-T A 1 2 3 B ER B
1 =E 18 BKT 6 0(WO) 5 o -0 1
#®E @& Bk 62
, [TB B8 ToARR 0 6 (WD) o6wD)| gp |3
FE BEX Y- 20 2
, [BFF AR Y- 6 0(WO) _
06 1-1 2
TZH HE PE FIt = 26
| FEU-I B 4 5 6 B EK Bz
4\5@3 E# 7o AER
SFHOEE EHJII?:}Pé
NEE %‘%—\f}m/—x
B K IS
] ;’/ﬁl,ﬁ/,%i:: R—1S—L AR
L TtR X 7u- N
&8-S C 7 8 9 10 R B [[:iva
, A EE |[dEAMHITRE 6 5 4 11 2
MAYH Bl | LAMITRE (0.44)
. Tk E=E TVETC 5 5 o 90 1
Tk His Ao¥n—K
o I F08h 1)— 46 c 6 0-2 4
Rl BE MNAEESK
WA EF F=ZDIVO 3
10 0 6 6 5 1-1
A REE HY=YELRITS (0.35)




F£62@O JAMBFr—FAL 28 IBRRIN—FAE RHES

wo

— 1 A
4
62
2
60
wo
(63)

IAN
s 4 MR

126 h—F A+
1~3#D114L

11‘EEE 1% BKT
=E # BKT
1~3%m2{i
ZH KE 71—

2w HE REERTES
7~108M24i

) ANEEF £E FEAMHTRE
ANEEF BE FEAMHITAR
7~108:MD 114

A K BE NETC
&Ek s AoH¥o—K

3 4fib—F AUk
1~3#

1 SFHA EA FR[EE
SFH IR J—
7~108D 411
S #08h 71—

2%l BiA INETEE
4~6#

3
7~108:®M 31

A WK EF F=ZDIVO
nEX RE FI=YELRITS

H R ERS



